ASO éf@ﬁ/ 2010

2020 T14
— 9 HHIH -
g T

A SO sookLeTr Nno. 200944
AT AT SO G YAl HAATare) A9 5 g gew ¢ 100
W : 1 (U%) aw T T ¢ 200
L= |

(1) HEXHeAYRGehed 100 Sifard gy amda. sdaarien veaid sat fefsvara goar woagdl ar eyt

Y qaG T, - —

(2) SIS TUET-HHE & AT T e HHi p~|e_~>ﬂ || e]jo|e
7 R A o ~
e et ———

(3) I BIYE AT Wi GHe Faearnay faiTe wit Saateee fie geawEm = fee T .
@) (81) a1 ueTgReheiTe Was WsATel 4 il St gute) age i 1, 2, 3 it 4 S HHiS S wed. &
S) |e WS U 0T AT, ATA T WA Sl . TGS g A ARG Al G oA 99 |

6 TERIRReT UHET T H AT WET AVT AT, T 6 I GG A ST e o I Som e,

7) wEga T

e S SR Fhar i A W we . qdw or s AW sneaeE 8 BT SaanEE —

AR AU T T T i Sa RS EATET gHe Satdihd g Gadl. Sl
I TARTNHET TAhHIS T8 HTAT aF Eeft GeTaaireaH Bt Hed adifae TEe ardr
ehTasST] SATS. BRI ek Tl QTR aTeu= arae, Ui a1 STTes U+t anae =1
@) T v R T it S Ay e e e, R W W S aiE 3 W 2
BTAVAT SIS SHE. AR ST R TS TeHe TEOTEaig s Y7ot 317 T et foeiror sirear
91T SATTH, TS et W™ Gt Wi 9=t arg ver. (

-~ O =—verT =YX

fefereraT ST W9 GieaTad. HH e SR SEent S 0T GETe 99 0T AeeTd il 6 W 9o e
QTR I, ST TR STaeeT NI TR 4 fiees UfewdE Horv WA aeeed] YeiEs

qT0 HIEEh 3L®.

THIYET ST AL TS HeTE A I gHI U TES 9 1 gHreA] Far O Il hel A,
B SRS e ST SHEaTTTea ST taehae dra SediaTd o1 o A, e ¢ TR
TR TETATA T WY R T SR i A S FEh e HE. T A SO
AR T e a2 5% A 1/4 700 F/F Foam T,

[
aﬁamumﬁ%mﬁﬁﬁaﬁﬁﬁlﬁaﬁWmﬁﬁrmﬁgﬁaﬂWmmgmwwa&
mmmmﬁ@ﬁﬁ,mqﬂmmmmﬁﬂmmmmmr

W FATE FOAE A5 7 A1 A REE e e, o
3 _ e g ey - e~
' ‘;!]:i(iﬁ SRR *ﬁng:f.'%ﬁéi.‘ TS ZPEER R
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(1) 1/6 (2)  Zero (3) 177 (4) 6/7

:;Eeg;:;!:dgf;sbia';gg:qems are girls and 1/3 of girls scored above 75% marks in English. If 15 girls
i g e In English, then select the option that indicates the number of students who

B 75 (2) 90 (3) 60 (4) 30

(c) W9 T Hiar ez,

(d)  HTE Bigar wrot amy,

(1) * % (a) T (b) 2T W (a) T (d)
(3) e (a) 9 (¢ (4) W (b) T (¢)

Select valid conclusions.

True statements : Some queues are animals. Some animals are wrestlers. All the wrestlers are
poems.

Conclusions :

(a) Some wrestlers are animals.

(b) Some poems are queues.

(c) All the queues are poems.

(d) Some poems are animals.

Answer options :

(1) Only (a) and (b) (2) Only (a) and (d)

(3) Only (a) and (c) (4)  Only (b) and (c)

— S _——
———

e
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3 ﬁaﬁwmm“,mﬁlﬁéﬁ!ﬁwmmﬂﬁai'm'
: e
i CCARGIGLE
(a) maﬁmma&@aﬁmmwﬁ%mﬂ
by e gEdl o, v

:c}} aﬂqﬁmﬁﬂmﬁ%ﬁhwﬁlﬂwﬁﬁrmﬁmﬁ

(d) TrEm sTHET A el .

v o 37 (), (© (4)

2) (@) () : true I
{;}enu;;};:xiz}facts that pr{m.}:e conclusion, "Mita beat Jamna to be always
:::]m }:amna and Mita both beat Tani, who finished last.
Mita finished runner-up. :
EE]} Ja:'nna beat Tani but did not stand first.
(d) Mita beat Shama.
: 4 () (d
ﬁqmg} nﬁ:?nm (2) (a) (<) (3) (b) (© (4)
| i A B HEA ¢
5. WWWWW@I?BW. T e 11{1}1‘@@:#15@1&;(4) i o
11 | e
%1]& ax::grzge of the Nine{czc}msecutive odd numbers is 103. SO what will be the average
b f them 7 _—
l(i;ges;g; . Eﬁ ’ 4(2) 112 (3) 110 (4)
'] ¥ r
<Ferart YT G T 3 AT P ERLCRI|

6. E :nﬁ AT gl B

farar faum

(a) AT @1 1 AfearEn Saear faw 3HTE.

(b) 7T HiewaTeaT e TEETdr 5 arira aTe.

T S -

1) (a) 9 (b) TR SATATH.

2)  had (a) G TR

& % (a) far (b) g oM.

E;cid{:zﬁsgiei:ﬁnmta with respect to the question : On which date the last Sunday of month

March was 7

Data statements :

(a) The last day of that month was Friday.

(b) The first Sunday of that month fell on 5.
Answer options :

(1) Both (a) and (b) are necessary.

(2)  (a) alone is not sufficient.

(3)  Either (a) or (b) is sufficient.

\4)  (b) alone is not sufficient.

4G
A\ ETHIHIE AW / SPACE FOR ROUGH WORK

(3 scanned with OKEN Scanner



8.
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5 T14

st A+B ar aref A B < ord omd; A - By areh A & B o @I oI AxB I A AF B A A

+P—L+E-M (2) M=YXP—-N+E (3) N-Y+A+M+E (4) N=+=C+FxM-L

If A+ B means A is the mother of B; A~ B means A is the sister of B; Ax B means A is the father of B
and A+ B means A is the brother of B. Then select the statement that means N is the maternal uncle

of M.
(1) N+P=L+E=M (2) M-YXP—-N+E (3) N-Y+A+M+E (4) N+C+FxM-L

el el

siyuiaThd WA SR BT AT, qUN FEHd AU HIE HHGT Hadl 4
Rasrereieeh a1 Aqedl Tarfh Redia HTwr sToard e sasd el di qEEE HasTE
&@d e : e

(1) IEEER Hgde et Rada e e AL A

2y Reaararaard! shaeien HeeETe ot FHTE STE o,

(3) mmm@mmaﬁw
(4) FETET FRGEEEE Regaesd € Yei areEEd . &

Many people suffer from depression in modern society. This can be a!levi_a’ged through certain
drugs that alter the chemical balance of the brain. However, the individual can undergo

psychotherapy that involves talking through problems with a sympathetic and skilled feli:aw human
tive frame of mind. Depressed individuals

beimg with a view to putting the subject in a more positi _.
who do not like the idea of theirbrain chemistry being altered should therefore choose psychotherapy.

select an underlying assumption of the above argument from following statements.
(1) Psychotherapy does not alter the brain chemistry.

(2) Psychotherapy is more effective than drugs in-treating depression. .

(3) Psychotherapy cannot be combined with drug treatments.

(4) Depression is always there with human beings when he came to existence.

o T i) 15 <@ e, arenzat st ke Rl Ao dg
. 71 Q@i SRS A ot T A @@ Y@ QoG A S o Wik e 60 S

R @Taie Yoo Gorgdl §e 80 Se e at@he died Qaawd fhal Ha fhehed Wad,
CE Qo dedy, el ?
60 (2) 58 (3) 63 (4) 64
club 15% can play all three games-Volleyball, Basketball

Out of a total of 240 players in a sports

and Cricket. It so happens that the number of players who can play any two and only two of the
above games is 60. The number of players who can play the Volleyball alone is 80. What is the total
number of those who can play Basketball alone and or Cricket alone ?

(1) 60 (2) 58 (3) 63 (4) 64

R

P.1.0.
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' ‘ el | war var’ ®l |
<ome tigers' @1 dehtl 'sto de o >
arg, 'some watchmen ari’e brave' 9l H:E SE':T rnfll l}n kig" &4l
o @1 @b ‘del agf kig lyn” STHT =TE: Hehd

T14

10. UE! Wkd UG, ‘poachers killed
creatures’ &1 Ged 'puz war lyn r:nul Bl
s anftr ‘watchmen are searching poache

a1, 'tigers are, brave

‘creatures killed watchman’ 9l ‘H%h?f ﬁa::" (3) puz del, vqr (4) IYFI, klg, ng '
(1) kig, agf, del (2) vanips Se chers killed some tigers’ 15 coded as 'sto del war var'
o, pos 'come watchmen are brave' is coded as 'sto

According to certain coding sys , ul’
ti areg brave creatures’ IS coded as ‘puz war lyn m Jed as 'del agf kig lyn”. Select the code for
trgr_‘:‘;n kig' and ‘watchmen are searching poachers’ Is COCE

mu

creatures killed watchman'
(1) kig, agf, del (2)

q ye | e Wwwmmmmmmmw

L e et i o e ey o 3, I T g 0

Wﬂmﬂmmmﬂmﬁ}mﬂfﬁﬁﬁ? -
(2) 76 .
}r:: }a c:r%ain animal group there are juvenile as well as adult females. Infant female attains adulthood

‘ irth to one new juvenile female every month for about five
in one month and on an average gives bi ] i sbgpremgh o

years if conditions are favourable. If there is one new borne female in a group

how many females will be there immediately after ten months ?.
1) 71 ; (2) 76 (3) 81 | (4) 89

12, g A Fed ot Radh groen FAIE o T e BiASIIEETe S IE. T HIS| S
7 e FiES U fGaar Fage FEreA] 100 T(eH . a0 e i s BCE REIRERIR)
QIUETErel 175 A el A, ar et Sur Rt varaiqe g g s

(1) FYaSie 24 qraTET Se S PO e SEe 30 3 Yfedr G Aed. N

S s 3 TE e FAs e s @ Zvanre 450 T e A, A

3)  dre Piadien Reae @ V[ 65 3 e G, e,
{wﬁﬁﬁaﬂm%mjﬁ% T W,

Edch of large chicken consumes equal quantity of food every day and same is the case with the
small chickens. One large and two small chickens feed on 100 pellets of chicken food in a day. 175

pellets of food are needed for feeding two large and three small chickens in a day. Select the false
statement from options on the basis of this information.

(1)  Thirty pellets are sufficient to feed one small chicken for little longer duration than 24 hours.
(2) 450 pellets are needed for feeding three large and ten small chickens every day.

(3) For feeding one large chicken for a day 65 pellets are sufficient.

4)  Large chicken consumes double quantity of food when compared to small chicken.

13. E%IWWWWWWWZ/S%W~ 8 WA I e SEeAT Tl
?]Tmuzmmﬁaﬂwanﬁmaﬂfaﬁﬁ?
70 (2) 60 40 4) 62

A Person's present age |
ge is 2/5 of the age of his , : :
E[;the';b How old is mother at preser?t ? is mother. After 8 years he will be 1/2 of the age of his

var, puz, kig (3) puz, del, vqr (4) lyn, kig, agf

e

T/ SPACE FoR ROUGH WORK
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14. Tova & w1 8 Rmum st 3
A wW g e Rl A WWIDWWW. Sr¢ Av P A T BT A “,!l
| |
2 | .
(1) 10— Ry 1 4 4 '.
2 (2) EEfa“a‘ﬂ (3) —g-fazm M—g‘?ﬂ"?{ -.\

Vishwa fini -
can finish the work in 8 days. While Srushti can finish the same work in 10 days. If they work \

t
ogether then how long they will take to finish the same work ?

1
(1) 10= da 1 4 4
g (2) 63 days @) 7 days @) 45 days

—

15. R ST R T wRe draerd) o wa e ok & s gi e T

TR

() AT M udidean g HETREE N 2 gdad g Sal Sare e A Tt N, B T O
wﬁmmﬁzmmmaﬂmmﬂmmﬁm{#mmmw. e N

Treaft M, Z Tastt A T,

(b) mlwmmmm@ﬁwﬂwmwwmaﬁ
A% FgTaET. WS A 2 26, B Ada 25, X g’ 03, TUHTL.

37 YA INVESTOR a1 STeTal Hehd el

(1) 0514220919201518 (2) 0514210919211518
(4) 0514211019201318

2 3Tt A

(3) 0513220919201519

This system is based

Safal and Dia formulated a coding system for texting the messages secretly.

on following rules.

(a) Replace each letter from A to M by equivalent letters from N to Z; thus Ais prlaced by N, B
is replaced by O and continued. And letters from N to Z are replaced by equivalent letters by
arranging A to M in reverse order: thus N is replaced by M, 7 is replaced by A and continued.

ng from operation 1 by a two digit number according to its place in

(b) Replace each letter resulti
using; so A becomes 26, B becomes 25, X becomes

the alphabets arranged in reversed order
03 and so on.
INVESTOR according to this system.

(1) 0514220919201518 (2) 0514210919211518 f

(3) 0513220919201519 (4) 0514211019201318

Select the coded form of word

(3 scanned with OKEN Scanner
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16. @reire fen= ver - ok
(3)  waT T8 & i suad arge & sRges Syrrem ey fed .
(b) aﬁaﬂﬁﬁmﬁnmﬁa@qﬁwwm.

qﬂmﬂﬂ:{’:
(1) foums (a) qUST 318 (2)  faur (b) a0ET 3ATE e
(a) T (b) FUET IMTed (4) fqum (a) ST (b) qUat

e the following statements : ‘ -
- : davari and located to the north of Harishchandra mountain

(a) Pravara is a tributary of river Go :
Wardha and Vainganga are the tributaries of river Godavari.

(b)

Answer options : _— e——

(1) Statement (a) is correct tatemen

(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are not correct
17. @ e el

(a) TRl Rcard afa fwr & gamerd @ o TEi e o,
(b) mﬁﬁﬁmwww,mﬁﬁ_@mwsﬁmwm.

qqr @
(1) (a) 30T (b) AT (2) (a) FUET (b) TH
[3r(a) & (b) FUEX (4) (a) oTMOT (b) Y

Observe the following statements : i o e
The Indravati and Pranhita rivers form the Southern boundary of the Gadchiroli district.

(a) i
(b) The Indravati forms a boundary with Chhattisgarh state while the Pranhita with Telangana

state.
Answer options :
(1) (a) and (b) True (2) (a) True (b) False
(3) (a) False (b) True (4) (a) and (b) False
18. BV gIaEe 17-05-2021 TTAM Aol Fmusay oo &e 1w ¢
(1) Tt (2) @™ w37 die (4) Tl ATl
Which cyclonic storm affected the coast of Maharashtra during 17-05-2021 ?
(1) Nisarg (2) Gulab (3) Tauktae (4) None of the above

19. HERTZIA HT2id] IAihe aiguihs BVl A aiat 3l ¢
(1) W, aaT, seTaT, BieT
(3)  afTa, AT, BT, SHE
(4)  ardlell, BiET, FHTel, ST
Which of the following sequence of ghats in Maharashtra from north to south is correct ?

(1)  Kumbbharli, Amba, Amboli, Phonda
(2)  Kumbharli, Amba, Phonda, Amboli
(3) Amba, Kumbharli, Phonda, Amboli
(4) Amboli, Phonda, Kumbharli Amba

(3 scanned with OKEN Scanner
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20. T faem gel.

(a) e foreer Rl SRR gEdg oM,
(b) sy oufer FETETT PRI A Twtenr fn o,
() werg AT Hiied &b 307713 < .fpr. amE.

gard) I ¢
(1) waEd [9UH (a) ST AT (2) e faum (b) UG HATEL
(3) Fa fIHE (C) WW@'-J\ \.(Aa/f"c‘mw (a) amfT (b) afmﬂﬁrd

Observe the following statements :
(a) Jalna district is located to the east of Hingoli district.
(b) Dhule and Nandurbar districts have borders of two states.
(c) The Geographical area of Maharashtra state is 307713 sq.km.
Answer options :
(1) Only statement (a) is incorrect (2) Only statement (b) is incorrect

(3) Only statement (c) is incorrect (4) Statements (a) and (b) are incorrect

21, AT TTENT I G SECATEIS SV A ST 9 A Bl gE e ¢

(1) = gl e geEr — 2014 2y~ Efet sma areEr — 1989
(3) TETET HTETH Fre — 1995 (4) T & e - 2011
When and which house building scheme was started in rural area of the state ?
(1) Dr. Mukharji Niwara Yojana - 2014 (2) Indira Awas Yojana - 1989
(3) Jawahar Awas Yojana - 1995 (4) Rojgar Hami Yojana - 2011

=1 FTATATE! AT / SPACE FOR ROUGH WORK PT.O.
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22, W= qHET
weTEEE favm A
(a) SIWUEH iy @@l
(b) ATYT (i) CERIES
(¢) ofrtmaTE i) Ferl
(d) ®iHu (iv) cical
qqiEgT S
(a) (b) (c) (d)
& (iv) (i) (i) ()
%) () G (i) (v)
(3) (i) (i) (@) (wv)
(4) (iv) (i) (i) (D)
Match the following :
Administrative Division Tahsil
(@) Amravati (i) Khalapur
(b) Nagpur (i) Sengaon
(c) Aurangabad (iii) Bhivapur
(d) Konkan (iv) Ghatanji

Answer options :

(@) (b) (c) (d)
(1) (v) (i) @) ()
(2) (1) () (i) (iv)
(3) (i) (1) @Gi) (@iv)
(4) (iv) (i) (i) (i)

23. SEVET 2001 ST 2011 FHIOT B7eT el ST STEL Bl
(1) 27 aqfer 47 (2) 48amfr51  ~4377 37 vy 51 (4) 50 e 56
As per the census 2001 and 2011 and towns exist in Thane district.
(1) 27 and 47 (2) 48 and 51 (3) 37and51 (4) 50 and 56

=] FHTHTE AT / SPACE FOR ROUGH WORK
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24, e @Al
foreel IGR]
(a) e fada Gy faaad
(b) T (i) F=Q
(c) T (i) geEay .
(d) s (v) @@
qaid Sl
@@ (b) (c) (d)
(1 (D iy (v) (0
(2) (i) @y (i) (iv)

w3y vy (i O (ii)
» G (v G0

( (
Match the following :

District Taluka
(a) Gadchiroli (i) Jiwati
(b) Chandrapur (i) Deori
(c) Gondia (iii) Mulchera
(d) Bhandara (iv) Lakhani

Answer options :

(a) (b) () (d)
1) (i) (i) () (i)
(2) Gii) () (i) (v)
(3) (iv) (i) (i) @n
(4) (i) () (i) (1)

] A~T

25.

Eﬁﬁﬁmﬁﬂﬂﬁm : |
(a) WU e wea fgg Rifardia_aaiel A AL v

it T

oy a R O @ 3R

o) dr faem g STe |
(3) ﬁmﬁmmwﬁmmwmmmﬁ
(4) dfeet faem gET 9ig 59 I |
Consider the following statements :

mboli in Sindhudurg district.

(a) The highest rain in Maharashtra falls at A
(b) Mountains on three sides of Amboli and the entrance o the wind is open.

Answer options :
(1) Both the statements are correct and second is the corre

(2) Neither of the statements
(3) Both the statements are C he second is Not the explanation of

rrect but the second is not correct.

ct explanation of first.

is correct.
orrect but t

the first.

(4) The first statement IS CO

e —
—a— —

——
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26, 25 q9T 1916 sk wETE AY . oA AFE il Eﬁ:z"'}fﬂ' Wﬁ“ﬂ i
A%e @ :
Ne — (4) @A Hi . 1916 at Madras 7
'f:fixichiiq;wiun was established by Dr. Annie Eesant(;t; 25(:2?'-";‘52; weal
(1) ~Homerule League (4) Swarajya sangh o

(3) ﬁnd[{ Mahasabha . —

27. dex i Rig ey BK 95 T
(a) @I e wraT .

(b) wieBfaTEToT feramT ETaS HIOAI e | -
(c) UoTE (1882) HIT Sremerams (1887) feramdrardr T .

d) omiifE anfer difaew R wea .

ot @) (@) (c) (@)
(1) (b), (c), (d) (2) (a) (b) (d) (3) (b) (d)

Which changes took place because of Hunter Commission ?

(a) Priority was given to private sector.

(b) Department of Public Instruction was established. '

(c) Punjab (1882) and Allahabad (1887) Universities were Es’Fabllshed.

(d) Importance was given to Physical and Intellectual Education.
Answer options :

(1) (b), (c), (d) (2) (a). (b), (d) (3) (b), (d) (4) (a), (c), (d)

28. gOUANGSAT BV faem ara ared ¢
(a) WIS HEMeT a1 ‘YHIEHT ATETd qikilied §& b,
(b) AT BT FHHT A FIHBI & GAIS dreiteret.
(c) @ieeIyY freamga ‘Y omg’ 9 ‘gugEs’ & A9 g6 Al
(d) WWWﬁTW'meWW.V

w3 I

(1) (a), (b), (c) Fqe™ aET g % (2) (a), (d) fau™ S0 3mEd
3 (a), (), (d) P aRraT amea 4 (a), (b) Fram s amed

Which statements are true regarding Newspapers ? “

(a) Bhau Mahajan started weekly ‘Prabhakar

(b) Acharya Bal Shastri Jambhekar ran ‘Induprakash’ Newspaper.

(c)  'Shri Shahu' and ‘Shubhsuchak’ Newspapers started from Kolhapur District.

(d) Vishnu Buwa Brahmachari expressed his thoughts through ‘Vartamandipika' Newspaper
Answer options :
(1) (a), (b), (c) statements are correct (2) (a), (d) statements are correct
(3) (a), (c), (d) statements are correct (4) (a), (b) statements are correct

FeA1 FHTHATATS FFT / SPACE FOR ROUGH WORK
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20. P wiaTde I GEABIE W T qrelrdid g e arErd ‘st wrd’ f wer
N il AiE. T
(1) = 59 2 E. ¥eian (3) wwara Pam (4) Gt e

__ proposed the concept of Antar Bharati to ensure that people from different regions were
acquainted with other cultures and languages.

(1) Dr Munje (2)  Dr. Hedgewar (3) Lokmanya Tilak (4) Sane Guruji

=

30. @ﬁﬂ'&ﬁaﬁmﬁ?ﬂ%m&\
() . qETERS AESHUN BN Fam gy wmn e,
(b) 1. ASTETES SESHIAT BATA I Ferronn e Joviiq T’ & gaus awfed. «

(c) fewdT MierHst UiLued HEon MUl 9 37 graraRe andsHt AT SRYLATES was Aaa 49
uTEET 918 A, A o

(d) HETT | et wenie ferenm frnfvarardt wed ar Wl afom yiEs wergy @ e
qarar S

(1) (a) (0), (d) faum srarg s 2 (@), (b), (c) faem amira smea

(3) (b), (0), (d) e s aed 4) (o), (d) foa™ e amed

Which of the following statements are false ?

(a) Dr. Babasaheb Ambedkar established ‘Harijan Sevak Sangh'

(b) Dr. Babasaheb Ambedkar started ‘Samata’ Newspaper from the donation given by Chhatrapati
Shahu Maharaj.

(c) In the first Round Table Conference there was dispute between Mahatma Gandhi and
Dr. Babasaheb Ambedkar regarding separate constituency for untouchable.

(d) “Mahar Mang Ityadi Lokas Vidya Shikavinyasathi Mandli” to this institution assistance was
given by Dakshina Prize fund.

Answer options :

(1) (a), (c), (d) statements are false (2) (a), (b), (c) statements are false

(3) (b), (c), (d) statements are false (4) (c), (d) statements are false

FTHTETE A7 / SPACE FOR ROUGH WORK PT.O.
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31 H’Hﬁw Heredl B |'.-------«-I - (i) W (192?)

(a) grErET WgT qEEHT (i) E‘Wﬂﬁwgm

(b) Y T "5 (iii) qrAd A

g ]hg|

(c) yfEar T‘ﬂ:é (iv) i AT oG

(d) WEE S

qai I

(@) (b) (c) (d)
@ v @ i) ()
) (i) (v (@ (@
3) (i) @ @) (V)

i) (i) () {) i ial reformers.
Match the following works done by Social r (i) Mukti-Sadan

(a) Dadoba Pandurang Tarkhadkar
(b) Jagannath Shankar Sheth A
(¢) Pandita Ramabai 5
(d) Punjabrao Deshmukh
Answer options :

(a) (b) (c) (d)
(1) (iv) (@) (i) (i)
(2) (i) (iv) (@) (i)
(3) (i) (i) (i) (V)

i carmers’ Fe
= Manav Dharma Sabha

deration (1927)

bay Native Education Society

@) Gii) (v) () (i)
32. 1887 T WETG 49 Wi HIIG YA HEAH T il .

(1) TT&THTE SIS (2) ¥ TS

(3) HiIgd wefr 4 T

presided over the congress session held at Madras in 1887.

(1) Dadabhai Nauroji (2) M.G Ranade |
(3) Moropant Joshi (4) Badruddin Tayyabji

33, ‘GIHIE AT wqaﬁaqm@’__%aﬁwwmﬁaaﬁ?f?

(1) e g () o T

(3) WA HET {4y HAMYH GHS

‘?od is the witness of everything. He does not require any middle man’. This was the central
of :
(1) Bramho Samaj (2) Arya Samaj
(3) Prarthana Samaj (4) Satyashodhak Samaj

e FTHIGIS AT / SPACE FOR ROUGH WORK
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34. §.9. 1910 W srenerErE A9 fig weraddy e sl weEee qen sriierd wie ar ¢

(1) e ~(2)—BTCETT (3) faeen (4) TRYET

Hindu Mahasabha was established in 1910 at Allahabad. Where was its headquarters ?

(1) Ayodhya (2) Haridwar (3) Delhi (4) Rameshwar
35. SIS g HENT ¥ 9T @iF SNed, U7 AT gEIm el o, A we Biofl st Hedr A ?

(1) IO g (2) HFETA T
(3 FERT HIAHT (4) aAgEATd 9@

Who expressed his grief by saying that farmers and workers are real strong pillars of the nation, but

they are now suffering ?

(1) Ganpat Patil (2) Mukundrao Patil

(3) Krishnarao Bhalekar (4) Yashwantrao Deshmukh

36. 374G HUA Sodl
(a) arfaT—od qiig 28 &, 1990 Vst wWIu+ Fetl. ~

(b)  SHiaT-—Td TSR GLaT 11 TN, 1999 HeHl H0A™ 3.
(c) g faara afveddr wger 1950 wea . o

m Gﬂi‘ .

(1) e (a) (2) @E (b) By & (0) (4) TqER AR
Select the incorrect statement :

(a) The Inter-state council was set up on 28 May, 1990

(b) The Inter-state council was reconstituted on 11 November, 1999

(c) The National Development council was established in 1950

Answer options :

(1) Only (a) (2) Only (b) (3) Only () (4) None of the abo

——

PT
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37. wiear arar - (e wftrdrean 7w oo 8’
(ﬂ:w) (weraTad)

@) W T (b gy ¥ A

(b) wreTdr Srerd (i) Ter

(©) el ﬂﬁTﬂsT-l (i) ATrar

(d) TIWQFIT{T T EAKe (iv) H=arld

Taa I

(@) (b) (c) (d)
(1) (i) () (v) (iii) 4
NF:‘)/(HJ (i) (iv) (i)
3) (i) (i) (@) (iv) 4
(4) (iv) (i) (i) (i)
Match the pairs - (Women members of Constituent Assembly)

A’ ‘B’
(Member) {Cnnsti:tuency)
(@) Sarojini Naidu (i) Central Provinces and Berar
(b) Malati Chowdhary (i)  Bihar
(c) Dakshayani Velayudan (11i)) Orissa
(d) Rajkumari Amrit Kaur (iv) Madras

Answer options :

(@) (b) (c) (d)
)Gy ) (v) (iii)
(2) (i) (i) (iv) (i)
(3) @) (i) @) (iv)

@) (iv) (i) (i) (i)

15
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38. wrEw @En - (Ve AdE 9risiE aw)

A ‘B’

(7R) ()
(@) & HIvgTar BT (iy 48
(b) wHM =g Nl Wihd HUXAYGD GEE (i) 41
(c) T &= wigEy (i) 44
(d) | HE FFRT HIgaT (iv) 39 A
9qra S ¢

(a) (b) (c) (d)

(1) @Gv) (m) () (i)

(2) (1) Gi) (i) (iv)

(3) () @) (v) (i)

47 (i) (iv) () (i)
Match the pairs - (Directive Principles of State Policy)

A ‘B’
(Principle) (Article)
(a) Right to work (i) 48
(b) Equal justice and free Legal aid (i) 41
(c) Prohibition of slaughter of cows (iii) 44
(d) Uniform Civil Code (iv) 39 A

Answer options :

(a) (b) (c) (d)
(1) (iv) (i) (1) ()
(2) () (i) (i) (iv)
(3) (i) ()  (iv) (i)
(4) (i) (v) (1) (i)

39. WA BV WISl arg 378 ?

(a) T &% - (e 14 7 19)

(b) HIEpicin T NeATH &b - (@@ 2979 30)

() HeATHS SUEAITdl 84 - (oew 32) ~—

(d) ifid QTa=ard &b - (oo™ 25 28)

arg yafg fasr

(1) (a) (b), (0) ‘('Zr.(b), (©), (d) (3) (), () (d) (4) a0« &4
Which of the following Pairs are matched correctly ?

(a) Right to Liberty - (Art. 14 to 19)

(b) Cultural and Educational Rights - (Art. 29 and 30)

(c) Right to Constitutional Remedies - (Art. 32)

(d) Right to Freedom of Religion - (Art. 25 to 28)
Select appropriate options :
(1) (a) (b) (c) (2) (b, (c), (d) (3) (a) (c) (d) (4) All the above

FAT FTATETE FFN / SPACE FOR ROUGH WORK PT.O.
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ez U AT STE.
40. ‘grIfTE geam onfor arfs T B R e -
" wHad! g (2) ST TR -

‘Social Security and Social Insurance’ is a subject included in -
(1) Concurrent list  (2) Residuary powers (3) State list (4) Union list
—
41. WWWWWWW@WW d A oh,
ATSY T WEY Y& HIUGTd AT AL
23, 43 (3) 36,51 )~ 14, 18

(1) 25, 28 (2)
The concept of equality of status and opportunity has been given concrete substance and shape ,
of the Indian Constitution.

Articles to )
(1) 25,28 (2) 23,43 (3) 36,51 (4) 14,18
42. R um g fifyy qfraren dra S sioar
‘A’ ‘B’
(s (sreae)

(a) | Gl - SR A5
(b) Hea Siftre Su-afdt - A FgwEr
R . e
(d) IHEH Gibdr QR e YT FAH AT

I T
(1) %94 (a), (b), (0 (2) e (c), (d) (3) W (b), (c). (d) ‘"('47) ®ad (b), (c)

Select the correct pairs of various committees of Constituent Assembly of India :

A ‘B’
(Committee) (Chairman)
(a) Advisory Committee - Jawaharlal Nehru
(b)  Fundamental Rights Sub - Committee - J.B. Kriplani
(c)  Union Constitution Committee - Jawaharlal Nehru
(d) Minorities Committee - Maulana Abul Kalam Azad

Answer options :
(1) Only (@), (b), () (2) Only (c), (d) (3)  Only (b), (c), (d) (4) Only (b), (c)

41 FHTAIA AT / SPACE FOR ROUGH WORK
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a3 26 Arat 1949 Ul EENTHB! WG Fiemren s e e S 7

(a) RS gt agar ~
()  Prasvmi qeE g
() aregTen daae FattE ae
(d) e ST ]
g e

(a) STRT (b)
(3) (a), (b) ST (©)

Which of the following provisions of the Constitution of India came in

1949 ¢
(a) Provisions relating to citizenship.

(b) Provisions relating to elections.

(d) rundamental Rights.
Answer options :

(1) (a) and (b)

(3) (a) (b)and ()

(2)
(4)

Provisions relating to provisional parliament.

(a), (c) feT (d) 4
Tt AR «

2) f(a), (c) and (d)

(4)

None

T14

to force from 26 November

.
?
%

(1) (a) (b)
Consider the following sentences .
(a) Vidhan Sabha is a Permanent House

(b) Vidhan Sabha is a Upper House
(€) Normal tenure of Vidhan Sabha
(d) Member of Vidhan Sabha must

Which of the following

(1) (a), (b) (2) (b), (@) (@)

is for five years
have completed 30 year

sentence(s) are false from above ?
(3)

(a), (b), (d)

45, WA TeggeTE T |
grdsim, aHrE

g, gaeEr, erdfrrge, worgdrd, TR

ct in relation to the prea
Secular

Which of the following order Is corre

(1) Democratic, Repu
(2) Sovereign, Socialist, Republic,
(3) Sovereign, Republic, Democratic,

st, Secular, Democra

blic, Socialist, Sovereign,
Secular, Democratic

Secular, Socialist
tic, Republic

mble of Indian Constitution ?

(4) Sovereign, Sociali

o ——

e

=] FHTATETS AR / SPACE FOR ROUGH WORK
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46. qhEIE B Fras 7 dar ThawE AL N 70
(1) e @aie S s, N~ | , 5 -
(2) smmqw;#m%ﬂﬁumﬁaaﬁw%@%mﬁm;ﬁa;ﬂw__
(3) ﬁwﬁwﬁsmmi@éﬁaﬁa.ﬁﬁmﬁiﬁﬂﬂm'”imé' N
qrEvy,
«/Wmmmmﬁmm

Which of the following is not one of the function
(1) to audit government expenditure.

(2) to ensure that financial rules and orders impacting gove
(3) to satisfy itself that those who sanction expenditure have the legal
(4) to recommend expenditure for welfare schemes.

47. WY BOET A SETT SeREaT wenid g o ? A
(1) LY GBI Goed™ FERIEEETE P .
(2) ﬁ/ﬁaﬁawmmarqﬁﬁgﬁmmmaﬁﬁm‘
By TN BER SeT T g6 99 <rErsid) & S S qre.
(4) TOEIST THE TE. ' 2

Which of the following option is not correct about India’s Attorney General ?

(1) Attorney General is appointed by the President on the advice of Government.

(2) He/She must be a person who is qualified to be appointed as a judge of the Supreme Court.
(3) He/She should have served as a judge in any High Gourt for ten years.

(4) None of the above.

s of the Comptroller and Auditor General ?

rnmental expenditure are obeyeq
powers to do so.

[

48. IR QOO HIEIAT GaNld, @i B AR A emd ?
(a) WGiaY™MEl §aregar M~ ) ‘
(b) g T oY GIHIUH gad fgurmfy ~"
(c) wWad agHgeEd sl “
(d) HEr gEmEHET garear
@il fewedn Hehdiga arg 3a? fesr
(1) (a), (b) 3T (d) (2) (b) ST () BT (3) (b), (c) ST (d) “4¥~ (a), (b) 3NF¥T (<)

In the context of Federal system in India, which of the following characteristics are correct ?
(@) Supremacy of the Constitution.

(b) Division of powers between Union and the State Governments.
(c)  Existence of an independent judiciary.

(d) Supremacy of the Union Cabinet.
Select the correct answer from the codes given below

(1) (@), (b)and (d) (2) (b)and (c) only (3) (b), (c) and (d) (4) (@), (b) and (c)

FeA1 FTHTATE! AR / SPACE FOR ROUGH WORK
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(2) TSR 356 W HOAGH Jerssmiar g Jur s
(3)  UIUIEIAT FHIAH e e whey -

What did_ th'E' SuEreme Court hold in the SR Bommai Vs. Union of India case ?

(1) Majority o t_hg State Government should be tested and proved on the floor of the House.
(2) The C}jlef Minister should be consulted before imposing Article 356.

(3) Veto power should be given to the Governor.

(4) States should get a bigger share of the taxes collected by them.

50. fifea o e , |
(1) TP HHAYHA fafdre @y sug s,
(2) THYT W@HIYA B. 100 B HUTS HOGTET HErol B0,
(3) TR THAAYA Hed 6. 1 HUTd HIGE] qrqol .
4" T w49t e sERREE gt 8 gaeE G

Principle of Guillotine means :
(1) A specific amount of sum is reduced.

(2) The amount of demand is reduced by Rs. 100 only.

(3) The amount of demand to be reduced to Re. 1.

(4) The demands are directly put to vote without any discussion or Scruitiny.

2011 HE HIVTAT | GATEAAT TR TG AR @reiran §=e qrebrr’ 5 M ?

(1) TTSiE ey (2) sfea meh
NI gErE T (4) FrwtyErd ey

In 2011, which Indian Prime Minister was honoured with ‘Bangladeshi Swadhinta Sammanon Award
by the Bangladeshi Government ?

(1) Rajiv Gandhi (2)
(3) Manmohan Singh (4)

52. T Hat AR BOR R w ey |
(1) Togure & feedn ufieNeE Y heiedn SEden gTern T HrEner T e

FYRTETT HaR 3T 9T 1.
(2) T HIAHEE @Y Aqd d W ST el S .

3y TegadTET Wil ST Tt STIedn YErE TE Ahdi. v
(4) Tiwds! |94,

Which of the following statements is true about the Governor ? ‘
(1) The Governor shall not be a member of either House of Parliament or of a House of the

leqislature of any state specified in the first schedule, - | |
(2) Tig:ernolument};nd allnl;.ranceg of the Governor shall not be diminished during his term of

office. |
(3) The Governor shall hold office during the pleasure of the President.

(4) All of the above. -

51.

Indira Gandhi
Atal Bihari Vajpayee

P.T.0.
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53. WIHE Teaue gawla @rieie s fr de ama?
(a) maﬁsmmwwﬁwmﬁmwmﬁﬁm

ST qgHaTe anaYadhdl ST, |
(b) mwmwwwmﬁmmﬁwyﬁmﬁwmmﬁm

Mo afdm arEar A
() mﬁwhmnﬁmﬁﬁmaﬁ@mam_ﬂ@ﬂﬂwmwm

aHfreh At ST e O AR G THE i o faren Rt wome AR

Qe Reiean ggtangs ara o Fas &1
(1) (a) T (b) 2) (b) 3T (@ 3 gl TEe AR (4 HE (g

Which among the following statements are correct regarding the Indian Constitution ?
(@) To amend the Constitution under Art. 368, two thirds majority of the total membership of the

houses of the parliament is required. |
(b) If any question arises in state as to whether a Bill is a money Bill or not, the decision of the

Governor shall be final.
(c)  No person shall be prosecuted and punished for the same offence more than once, including

any departmental or administrative proceedings.

Select the correct answer from the codes given below :
(1) (a) and (b) (2) (b) and (¢) (3) None of the above (4)

Only (¢

54. Irg FYF AdET : (ALY FHIIER) .
(a) TSI =T TSR FHIE A U (PEPSU) farfarr fardaes 1954 wed ArqaEmdl U S,

(b) 1991 Hex WY AR, FeHeTWI I HHG WY Ja= W 9 U9 (S5 Fadass wradard

— ———
*ﬁ

TG g, —
(c) 1986 Wed Tzt ¥t R aeit Wit Wi oiiftew (o) Frdraan wawia uite @ amaw e

tl't‘ilﬁl?ﬂ:{:u
(1) B @b @ wWE© (6 wEb,©Q N ahewd

Select the correct statements. (Veto Powers of President)
(a) In 1954, President Dr. Rajendra Prasad withheld his assent to PEPSU Appropriation Bill.

(b) In 1991, President R. Venkatraman withheld his assent to the salary Allowances and Pension
of the member of Parliament (Amendment) Bill.
(c) In 1986, President Zail Singh exercised the Pocket veto with respect to the Indian Post Offict

(Amendment) Bill.

Answer options :
(1) Only (a), (b) (2) Only (a), (c) (3)  Only (b), (c) (4) All of the above

F=1 FTHTATS AR / SPACE FOR ROUGH WORK
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s5. e Tvdren P fify teurdiia smrarton s e @a g e 5
HEATd. ' N
~AAT) U STHITTET 5aT 7 = oY Uyl wrehE e o
T faem gvg Prage e wga 1000
TTET YT FAHHEAT . A
(2) e SRR WA T = Yy Ry iy anfor o aiedd Praga 1000
eiedT Hawid) FeE
\ TSTE THUT Arha e il
Hdrd = 1000
R T = o fgum g o faer aieede Egd
e T i e aeeidl G
oY T SmEE -

(4)  TenT STHEITEAT HaTe qod =

T fyem ata frag Taen s @E 1000

In Election to the President of India, the value of the unté of MLA from the various states is decided

by following formulae.

Total PuEuIatinn of State 1

o —

(1)  Value of the vote of MLA =

No. of elected members in the 1000

State Legislative Assembly

Total Population of State ¥

(2) Value of the vote of MLA

: X —
No. of elected members in the 1000

State Legislative Assembly and Council

(3)  Value of the vote of MLA = Total Population of State s )
Total members elected and 1000
nominated to the State
Legislative Assembly and Council

(4)  Value of the vote of MLA  _ Total Population of State X = {;200

Total number of elected members in

the State Legislative Assembly

s SETATATE! AR / SPACE FOR ROUGH WORK
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56. @eitddh! B FUGT e T 7 . o Gayk
(1) afaqammqq-cﬁ%mﬂ%qﬁh@mamﬁm
(2) HET 66 - IYITIAGETET FEsIE.
(3) @ 69 - IUZUAI ZIY HvATd AT I

AT TeTH 61 - IUTATET B
: Council of States.

Which of the following is not matched correctly = N
(1) Article 64-Vice-President shall be the Ex-Officio Chairma

Article 66-Vice-President’s election.

(2) |
(3) Article 69-Swearing by the Vice-President.
(4) Article 61-Tenure of Vice-President. -

57. @iiwda B fas wimy e ? N~ | .
(1)  TaeieT FeaTE fras & gagen Sad Maiad JeEieg 2. e g
(2)  TEET SeE € qEdeA] d GUTIEIed] §gF qothid AR m
(3) WW%W&W%WW .
Mﬁﬁeﬁ@ﬁﬁmﬁ%ﬁmwmﬁw@qﬁwwm
HHAT TR Y] Fasvmia Tl
Which one of the following statements is correct ? |
lected members of Parliament.

(1) The Chairman of the Rajya Sabha is elected only by the e cts ' o
(2) The Chairman of the Rajya Sabha shall preside over the joint session of both Houses of

Parliament. | |
(3) The electoral college for the election of the Vice-President is the same as that for the election

of the President. - | |
The nominated members of both Houses of Parliament have voting right in the election of

the Vice-President but not in the election of the President.

58. waﬁﬁﬁﬁmmwwwﬁgﬁmmmﬂmﬁwﬁﬁmﬂ%

mmwru’rﬁﬁw:

(1) HIvTETE THTE TSITE

(2) WWW%{H

3y UzuEE ARITEN A e R
(4) aLIeTde! Tael A8l

If a person is appointed as a Governor for two or more states, his honorarium and allowances wil
be paid as following :
(1) From any one state

(2) From Central Government
(3) President will decide the proportion of payment from concerned states

(4) None of these

(4)
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Parliament ?

(1) To give representation to Constituent States
(2) To serve as a federal feature.

(3) To hold second thoughts or detailed discussions on Legislation.
(4) To get powerful party leaders elected to Parliament.

60. o arieiean fratad Weame wramar Tead fraser s
(6) ¥R T TfydEed v W,
(b) WEITAT SR wHTTEN PrafdE gem v
(c) T~ fqurasy frafda gega——
(d) W HEed I
@i feeedT Heharg ara 3o frast - ,
(1) daw (a) ALy (b) T () FaB (3) () N (d) BEw (4) BB (d)
The President of India is elected by an electoral college consisting of :
(a) All members of Parliament and State Legislature.

(b) The elected members of both Houses of Parliament.
(c) The elected members of the Legislative Assemblies of the states.

(d) Only members of Parliament.

Choose the correct answer from codes given below :
(1) Only (a) (2) (b)and (c)only (3) (c)and (d) only (4) Only (d)

;1. frroy drstereat fatigTa 18 Hi@a¥ 1955 ﬂﬁﬁﬁuﬁaﬁmﬁmﬁmﬁmmﬁmﬁﬁqaaﬁﬁ?
g5 T (d) WS FETE

(a) TG A9 (b) T 3 (©)

wqra T \

(1) %a® (a) 9 () W2y ®aw (b) T (d)  (3) %% ()9 (b) (4) HP ;c} q ‘(:; N
Who led the protest march on the Legislative Assembly on 18th November 1955 agal
tri-state Scheme 7 | s

(a) Senapati Bapat (b) Acharya Atre (c) SK Patil . (dy Morarj De
Answer option :

(1) Only (a) and (c)

(2) Only (b) and d (3) Only (2 and (b) (4) Only (c) and (d) .

RPT.0.
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62. mmé‘maﬁ?ﬁmﬁﬁﬂ?ﬁﬁﬁ“ﬁ | ’
(a) 25 Yair arftyes T TG —a
(b) 2u&maﬂmm§%mwmmﬁwﬁéﬁﬁﬁ
(©) 5 e ot sl gty e R AT LT ot e

(d) W s iR e erEET fad
Wy s £ (4) T (a) &y
b), (c), (@) _
s o 5 By £ 3 Els‘fﬂsc(:;'uit)ﬁ Cﬂmrnittee' of Maharashtrs - 4
|

Consider the following statements about the 'Pu

(a) It consists of not more than 25 members. or.
by the speak of Legislative Council.

(b) Not more than 20 members are nominated s
(c) Not more than 5 members are nominated by the chal ats of the State Government.

(d) Itis the duty of the PAC to scrutinize tl;e Finance Accou

Which of ts are correct .

D () IE;E ?rgm e (6, @ 3 (@) ), @ @ @ @ andd o,
T =~

x _
63. WIEIAYE! B TRUETEAT TEA WA A7 )
(1) WW(&W)WWMW@BHWWW'
(2) a1 YeTET S us aut Hiar emar. Y an%’l
(3) Wwéwwmuﬁuﬁmmﬁﬁﬂ -

4y ST e g are TeXIe T & 6 S
: ing i t Sheriff ? ‘
Which of the following is not true about >N by Letters Patent Act of 1823.

(1) The office of sheriff of Mumbai was formed

(2) The term of office is one year.
(3) The sheriff of Mumbai is a post with no statutory status

(4) Only Mumbai in India have the post of sheriff.

64. W@w faum™ ferEmoa =
(a) QfaaTg & T YEAT B (el &= (nerve Entre) aTTe,
(b) wRETT ¥ T qTEHTEAT ore fr firgw A orad.

(c) afa & oy afarEE a4
(d) @l & 71 SAfUH (line agency) 3T,

Fieda! Hivr fagm atEe s ¢
1) (@) (), (© @) ©afrd () i@ 4T (@) A b
Consider the following statements :

(a) Secretariat is the nerve centre of State Administration.
(b) Secretariat consists of several departments of State Government.

(c) Secretary is the head of the State Secretariat.

(d) Secretariat is a line agency.

Which of the above statements are correct ?

(1) (a), (b), (c) (2) (c) and (d) (3) (b) and () (4) (a) and (b)

but with prestige.
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65.- WWW@QwW kb e
(a) @M FaTEl 35 T i e Gméi ':rth@t”E"g,l :‘ﬂ?fﬂ frraney TreTer .

(b) o =l wTareR WiRidvs aene 2 a nfym gamat s e,

1t e = o

" " 1 9% afthell i argerel wiea.
&

&) o =l witts wradest arard. A

qard St A P | A
1) (a) () TEAT () (2) (@) (© B ) By (b) B () 4y (o) e (d)
A person to be appointed as a judge of a High Court, should have following qualifications :
(a) He should have completed the age of 35 years.

(b) He should have held a judicial office in the territory of India for ten years.

OR
(c) He should have been an advocate of a High Court for ten years.

OR
(d) He should be a distinguished jurist in the opinion of the President.

Answer options :

(1) (a) (b) or (d) (2) (a), (c) or (d) 3) (b)or(0 (4) (b)or(d

50\ o) fici L (
(1) ﬁm%(a)anﬁ(b)a-&a'{mﬂ

3y faur (b), (© anfiy (d) a0E aed

Consider the following statements : .
(a) According to the Constitution of India a person must prov

Assembly before he is appointed as Chief Minister. _ ' .
| ' nted as Chief Minister.
(b) A person who is not a member of the State Legislature can be appol .

(c) The assessment of the strength of the ministry is not a matter of private opinion of any In

be he the Governor or the President. |
(d) The salary and allowances of the Chief Minister aré determined by the Governor.

Answer options :
(1) Statements (a) and (b) are correct

(3) Statements (b), () and (d) are correct (4)

w2y faam (b)eﬂﬁﬂ(c)afﬁ'{an%a
(4) faam (a).ﬂ(C) T (d) aET ST

e his majority in the Legislative

(2) Statements (D) and (c) are correct
Statements (), (c) and (d) are correct

PT.C
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67. W R Bl ¥ ST (2) W—in e 264 @ 291)
HIT- state Legislative f'E‘ﬂtiuns

B WIT-XI (e 245 T 255) (A T el

(3) WPI-VII (@ew 239 d 242) - constitution:
In which part and article of the v (article 244)
whi p (2) E;::.x)ﬂlﬁarticle 264 to 291)

mentioned 7
(1) Part-XI (article 245 to 255) (4)
(3) Part-VII (article 239 to 242) /’//Téﬁ;
68. Pra=s anfer Feeran ufterd Al e B fjﬁﬁm Emﬁ,ﬁ e UREd B
'Wﬂﬁﬁwwﬁlﬁﬁw Wmaﬁu@fﬁﬁﬁ
(2) HraTe WerRaraan arEn Eﬁ"’)‘ TR
(3) wIrHEHd Y HoX HE. Fp—
e ' :
(4) Fa@ FUH=E Feedgs ditor-General be remg"::eaurt is rerﬂaveii

How can the Comptroller and Au f the suprﬁ'"l“

judge O

(1) By the same process as the Ju i
(2) B}yf' the same procedure as the Attsrgaeghc;ene
(3) By passing the proposal In the Lﬂce Miniﬁier.

the Finan —

(4) Only with the advice of
69. WHWWE\HWWWﬁW#

Wgﬁé%ﬁaﬁﬁaﬂﬁu&arww

(2) faesd

(3) #HIO&ars1

(4) & | ‘i
What was the bone of contention in the way Of Cr€

and Gujarat ? - :
(1) Bjﬂmbaﬁ city to be a separate, centrally administered territory

(2) Vidarbha
(3) Marathwada
(4) Kutch

"1
70. T B e gRamE gde AAEaEEe 6 el ¢ |
(1) mmmmﬂ?mm@ﬁﬁrwmamm

a'rl

ation of the two linguistic states of Maharash,

5 L) | 31
Mzsﬁmlgiﬁaﬁammﬁmﬂmﬁﬂwmwsmﬂw
T
(3) Wdied AT ETHIS HRAT Wyl MY HLaw.
(4) W fqa™ g9 .

Which of the following statement is not true about India's Supreme Court ?
(1)  Article 124 to 147 and part V of the Indian Constitution informs about the composition i

powers of the Supreme Court.
(2)  The supreme court was inaugurated on January 26, 1950 and moved into the present buld

in 1956.
(3) Judges of Supreme Court are appointed by the President of India.

(4) All are true. s
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41, PeltETaTea WU WS B faur i omed 7

(a) arta ¥ ¥ e P e,
(b) TS 1774 WA fiw .

HOw BT BRI TN & 9 .
gﬁwﬁwmmmﬂmmwm@ﬁwﬁ

()

(d)

gy S9e ¢ |
(1) (a) aTfT (b) 2)  (b) IRT (©)
(3) (a), (b). (c) T (d) (8 (a) ST (©)

oL,
Which of the following are true about the office of District Collector ?

(a) It was created by Warren Hastings.

(b) Itwas created in 1774.

it succeeded the Karori-Faujdar of Mughal Period.

(c)
tood the

(d) Sir W_iiliam Wilson compared the District Collector to a tortoise on whose back s
elephant of the Government of India.

Answer options :
(1) (a) and (b) (2) (b) and (©)
3) (a), (b), (c) and (d) (4) (a) and (©)

72. ?4wmm@ﬁmqﬁmﬁm(ﬁ—m)wmﬁﬁﬁamm
FTHE _ e GafvET STl ST
(3) 243-Y (4) 243-Z

(1) 243-V 2T 243 - W
) are entrusted with some duties and responsibilitl
er Article_

es as enshrined

Nagar Palikas

Municipal Councils (
| Amendment Act und

in the 74th Constitutiona

(1) 243-V (2) 243-W (3) 243-Y (4) 243 -Z7
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73. Sr=ST SEl I|
A’ (1) ‘B’ (frean uftae dearaa after 79) |
(a) HTHIH (iy  ofae i |
(b) @IS (i) HEHAT Uug |
(c) W& W9l Giiy e fammm afteg—
(d) HEUTEE We9l (iv) W¥9E 99T —
Y S

(a) (b) () (d)
@ G Gy i) (v A
27 (i) Giii)  (iv) (1)
88 (i) (iv) (i) (1)
(4) (@) (i) (iv) (i) 4
Match the Pairs : * i

A" (State) ‘B’ (Name of Zilla Parishad/ Panchayat Samiti)

(a) Assam (i) Aanchal Samiti
(b) Karnataka (i) Mahkama Parishad
(c) Madhya Pradesh (iii) Zilla Vikas Parishad
(d) Arunachal Pradesh (iv) Janpad Panchayat
Answer options :

(a) (b) (c) (d)
(1) ) () () (v)
(2) (i) @i) (iv) ()
(3) (i) (iv) (i) (1)
(4) (i) @Gii) (v) (i)

74. T i AT HE AT SR o e e 3o T A

(1) e =it T e, e i aean Ay, P e 1§ s,
2y Tores wHwrs w9 — WWWW_WWWWW |
(3) foreamde wg@ USSR memawm |
AferpTLT WA ‘ &,
R Riera atr@eaTd ATEST o T ol .

(4) Toreer T ol WU -

Which of the following pairs is not correctly matched about t

Collector 7 |
(1) As a District Magistrate . To grant, suspend or cancel licenses of arms,

he role and functions of the District

explosives.
To work as the head of rationing system and control

black-marketing.
To receive and organise the stay of VVIPs.

(2) As a District Co-ordinator -

(3) As a Chief Protocol Officer in -

the District
(4) As a District Development Officer - Direction and fulfilment of development plans in the
district,
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75. ﬁmmmmmmwwmw,mmmmww !
4 . | -

(a) WERIA e vEdven Rawr weangy s snfvr siftrear dtsaten s vwta we,
(b) TR TN WHAR, SETT S wenfie e o qris Attt day Sar .
(c) me@mmmmmm“
(d) | TSI FEEl g O ¥ R0 wewary qaemy ol
@l I &
f\ﬂf)/{ﬂ) T (c) (2) (@), (b) anfeT () (3 @), (c) anfdT (d) (4) Fdw |a <4

Which of the following factors are responsible to change the role, status and authority of the office
of the Collector after independence ?

(a)  Adoption of Parliamentary System of government has caused concentration of powers and
authority in the hands of the Minister.

(b)  The District Collector has to deal with the M.p, MLA and local political and social bosses.
() Panchayat Raj has led to the emergence of a new class of politicians.
(d) The Police tend to become special importance to the political leadership.

Answer options :

(1) (2) and (c) (2) @ (b)and () (3) (a)()and(d) (4) All above
76. Il IR FESAIT Aine] et iy ga we 9 7
(1) 9. g whE (2) rsivs Fear afel
(3) SfrEr | 4 FEAUE ARD diHa
Which Cnmn?ittee IS sflsca known as Committee on Democratic Decentralisation in Maharashtra ?
(1) PB. Patil Committee (2) Ashok Mehta Committee
(3) Bongirwar Committee (4) Vasantrao Naik Committee

77. BTEV SRS e B e w ey
~Wﬂ-%ﬁﬂﬁmaﬁrﬁmm@wmmwﬁaﬂzﬁmﬁmm.w
() BrEVI FETaSY steE St Surme avd fras Fraffaa e e e awten
HIAGIBETS B, S -
(3) BIE GAUfETRTS BN A AieheEiean smaR 219 FH e 5.
(4)  TERTZI &l BTl AT o

Which one of the following statements about ‘Cantonment Boards’ is correct ?

(1) The Cantonment Act of 2006 has repealed the Cantonment Act of 1924

(2)  The President and the Vice-President of the board are elected by the elected members from
amongst themselves for a term of five years.

(3) Cantonment boards are grouped into two categories on the basis of the civil population.

(4) There are six Cantonment boards in Maharashtra.
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78. 74 ST HEAIGERI mmw mﬁ% ﬂfﬂgﬂ@fm - T
(1) . 3T 1989 WeH s ke : ) g e Rrastm:

. 19
ﬁ#ﬁlggszrmﬁﬂﬁwwwﬁ‘ ,:lﬂj""

% o b ts about 74" Constitutiona Amenf;nﬂzn::::c:hi I;:J::rztn;h
Which one of the following statements abou e ust ' i
(1) ChOriginaHy intrnduce% as the 65t Amendment bill E_]?Slgd not get assent of Rajya Sapy,.
government although it was passed in the Lok Sabha
and hence lapsed. —
(2) A revised Nagarpalika bill was introduced by V.P. 5Ing
Lok Sabha was dissolved. -
(3) Narasimha Rao government introduced the modifie
passed by the both Houses of Parliament in Dec. 1992 as
into force on April 1, 1993.
(4) None of the above.

government in 1990 but lapsed as th, |

ik iR ill in Sept. 1992
unicipalities bill in ang
Th e 74th amendment. It was brough

o R e g ¢ s
(a) Wﬁ@&ﬂﬁmﬁwﬁ@mwﬁﬁwmﬁlﬁ (Ombudsman) ffif
(b) WWQ@WWWWWW@@WWW

CICIE
(c) HEMRTEl 42 Fas. 1
(d) 781 ATETET T ABHCAT ST FE AL TG ATeq® TABLN WG B T
(1) (a) (b) &1 (©) (2 (a), (b) T (d) (3) (b), (c) oMM (d) (4) < T

Which are the recommendations of the Sixth Report of Second Administrative Reform Commissior
on Local government and Democratic Decentralisation ?

(a) A local body Ombudsman to be constituted to look into complaints of corruption and
mal-administration.

(b) A National Commission on urbanisation to be setup to éuggest steps to deal with rapid
urbanisation.

(c) Direct election of the Mayors.

(d) Set-up a metropolitan transport authority in all cities of one million plus population.
Answer options :

(1) (a) (b)and (c) (2) (a), (b) and (d) (3) (b), (c) and (d) (4) All above
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80. wiefiedd Hvrd fra TR aw? A |
(1)  weane ‘Faeer @ weETET e B Hed oI
(2) ﬁ T eI 'ﬁﬁt'maﬁuﬁ‘mm@z 233%235%@@%@%%
— =
@f?awmﬁmmmgﬁ&ﬁmﬂ:ﬁumaﬁﬁm amﬁmwuﬁimmmmﬁnmh
qe 3 d iR Heen o,
(@) alwdE THe .
Which one of the following statements is incorrect ?
(1) ‘District’ is the basic territorial unit of administration in India.
(2) Originally, the Constitution of India made no mention of the term ‘district except in Articles
233 to 236.
(3) - The 73rd and 74th Amendment Acts included the term district’ in the Constitution at many
places under Part Xl and X1 A of the Constitution.
(4) None of the above.
81. WWWWWMWW? A
(a) wmawwm@awm 2
(b) dETEd Qi Tod §IBNT wﬁ'ﬁwqﬁﬁaﬂmﬁgmmawﬁ_mm
(c) WW@WWW&WW ok
(d) daTaa gt e 8 S FuTan FGAl.
ara g fHasT
B @b @ e @ @ @ Lp— ). © @
panchayat Samiti ?

e following sentences are true regarding

Which of th
(a) Panchayat Samiti is the apex body of the Panchayat Raj system.
(b) Panchayat Samiti acts as link between the State Government and Zilla Parishad.
(c) Itis compulsory to have one meeting in a month.
(d) Tenure of Panchayat Samiti 1S S years.
Select correct options : _
(3) (a) (@) 4y (), © @

1) (@) () © (2) () (d)
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82. s ftwRea smatara weledE B RrerE(R) T m;ge; f ForeaITaTe! TemTe i,
(a) Wma@mmswﬁmamﬁ
e @ srgaaananlt ST
(b) ﬁwﬁwsmmiﬁ'@“‘“ﬁm e
(©  ardvor s Wit sl Sy d garar gE H
qqral I — (4) ' Erﬁﬁ qd
(1) (a) 3T () (2}~ B (C) (3) the functions of Zilla Parishad ?
Which of the following statement(s) is/are true regarding d urban population and the Planp;,
(a) Provide essential services and facilities to the ru;ﬂl ?Ee district. >
and Execution of the development programmes or
(b) Setup and run schools in urban areas. .
(c) Start primary health centers and hospitals in villages.
Answer options : only (a) (4) All the above
(1) (a)and (c) (2) Only (c) (3 oy -
ATTtD! BT TR/ ety
83. %amﬁwwa@fmamm%w@nwaﬁgwﬁa&:ﬁwﬁ i
HTEd 7
(a) Foreer P aftrdidr wwn @ &
(b) WfE@TETSN 50% WY HTTE. -
() T Pratas smanT snftr Tew faw, oTERTEl TG
d) | wiate gewidr ettt sregard de/ae IS,
T S
The 73 Constitutional Amendment Act which aims at promoting the Fanchay ] ons in
the country, provides for which of the following ? :
(a) Constitution of District Planning Committee.
(b) 50% reservation of seats for women. | o
(c) Establishment of State Election Commission and Finance Commission.
(d) Direct elections of Members and Chairpersons at all-levels.
Answer options :
(1) (a), (b) and (c) (2) (a), (c) and (d) (3) Only (@) and (b) (4) Only (¢
84. 73 =1 MEAIGEE BITETHl @A vl aiqe (dfireT) Ui o ?
'—--'—_'F
(1)  JHEHT @9e HO VT
3y §9 TEAT § AAET geae s
(3) Teevs defquarardl feuH a9 21 a8 v~

Which of the following provisions (features) of the 73'@ Amendment Act is voluntary ?

(1) Organisation of Gram Sabha.

(2) Direct elections to all seats at all levels.
(3) 21 years to be the minimum age for contesting elections.

(4) Making Panchayat Raj as autonomous bodies,
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(1) @—Wiﬂ (5} M’f—q‘&‘ﬁnal [-2_;] 3) de-=d i (%] i — (%}

of the total number

if at a spjecial meeting of Zilla Parishad in Maharashtra, not less than ;
of councillors vote in favour of a resolution requesting the State Government to withdraw the Chief
icer from service under

Executive Officer from office, the State Government shall withdraw such off
the parishad.

1 2 3
(1) One-Half [“27) (2) Two-thirds (5) (3) Three-fourth (E) (4)

2
Two-fifth L-g)

86. ﬁﬁwﬁ%mﬁmmﬁma_wmmmmm?
(a) HEMTT ST
(b) e g5 AT

(c) T T

(d) T aEEstusETd

Tl I 3

1) (. (@, (b), @ \zr (0, ®), @ @
3) () b) © @ A . @ ()0 @@

Which is the proper sequence of the court from top 10 bottom ?

(a) Metropolitan Magistrate

(b) Assistant Sessi?ns Judge
(c) High Court —
(d) Chief Judicial _Magistrate

Answer options :
1) (0. (@) (), @)
(3) (a) (b) (@ ()

2) (0, () (@), (a)
@) (b, (©) (@) (d)

= FTATATS AT / SPACE FOR ROUGH WORK

34

(3 scanned with OKEN Scanner



T14 36
87. wﬁmﬁaﬁam@mﬁmﬁﬁﬁﬁm+wf B i

(d) ar Frewr 9 93 e e 15 9y siftreer s £

— qrg ATed |
1) vt (b), () @l d) drg e 4 Az wai (@) 0) :TT;T ‘i’:} pier
(3) wafg (a), (c) 3T (d) I oM (4) uat (a) ()

reme Court unless he g
A person shall not be qualified for appointment as Judge of the Sup a |

citizen of India and T ——
(a) has been for last 5 yrs a Judge of a High Court or of two O more such N, or

(b) has been for at least 10 yrs an advocate of a Hig
succession, or

(c) s in the opinion of the President, a distinguished Jurists, O

(d) has been Practicing in sessions court for at least 15 yrs.

Answer options :

(1) option (b), (¢) and (d) are correct (2) ﬂptinn (a), (b) and (Z) are mrr&?t |
(3) option (a), (c) and (d) are correct (4) option (a), (b) and (d) are corre

88. WMM 3 faamd srEaeT &a A"
(a) TP TUIEIS! Ush Iod =T 8.
(b) W AT ¥ AfeE T SR onfT e SIIwT ST [$E BT SE
39N AGTTAr 99 SUHR SEd|.
94T FY

(1) (a) FquT ST T8 9 (b) b TR,

¥ (a) ST (b) 3 Fare o e

(3) Tqu™ (b) & (a) feremmsht et =L,

(4) =l faum 9% amed.

Analyse the following two statements :

(a) There shall be a High Court for each state.

(b)  Every High Court shall be a Court of records and Shall have all powers of such a court including
the power to punish for contempt of itself.

Answer options :

(1) (a) 1s correct but (b) is incorrect.

(2) (a) and (b) both statements are correct.
(3) (b) is not related to (a).

(4) Both the statements are incorrect.
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89. WWWWWWWWWWWWWWW

T ¢
(1) Wa™ e =gl (2)  WTCETd HEwET
Mmmﬁ A (4) adedenl HTorEr AATEl
n India, other than Delhi :

As per whose approval the Supreme Court can sit at any other place i
(2) The Prime Minister of India

(1) Chief Justice of India
(4) None of the above

(3) The President of India
00, et W WG VI TeT Mol Gee Rl e e (et

qaTE Hel HE 7
(1) HFHT 141 (2) STTET 142 3y FeE 136 (4) STgEsE 226
Which of the following article of Constitution of India has conferred Discretionary Jurisdiction 10

the Supreme Court of India ?
(1) Article 141 (2) Article 142 Article 136 (4) Article 226

91. mwmmﬁaﬁfaﬂmw.
() EHEAT i FUIGT FrEhEET G
(b) ngmﬁmmm

e A/ e A ST/ ¢

(1) (a) oTfeT (b) (2)  (b) @l () 3) (@ & (@ 4y alw ud

Consider the following statements regarding Economic Reforms .
(a) The role of the Government converts from the ‘controller’ to the ‘facilitator’.

(b) The Government commits to suitable reforms in the infrastructure sector.
(c) The Government commits tO the full functional Panchayati Raj Institution.

(3)

Which of the statement/s given above is/are correct ? _

(1) (a) and (b) (2) (b) and (c) (3) (a) and (), (4) Al of the above
02, @EEE FrRISHTE YHR IV ¢

(a) wrmgmEl Frare (b) wEHAE faTsH

() @ME AR (d) Higa FEEE

wﬁﬁ U!"ﬁ . l

(1) (@) T (b)'k (2) (a) (0) amer (0 (3) (@) (b) 3T (d) W/Wﬁﬁ

Which of the following are types of planning ? |
(b) Totalitarian Planning

(a) Democratic Planning ! |
(c) Social Planning (d) Centralised Planning
Answer options :
(1) (a) and (b) (2) (a), (b) and (¢  (3) (2 (b) and (d)  (4) All above
P.T.C
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93. uT uPré AerT wt FRIHH (RLEGP) et G BT =7 l1991 (4) 15 AT 1993

(1) 153w 1972 N2y 1581983 (3) 15 WERLEGP) < launched ?

When the Rural Landless Employment Guarantee Programme f.gt 1991 (4) 15 August 1993

(1) 15August1972 (2 15August1983 (3) 15AU9 .
94. WA ararT iy anffe Frare T ST @)

(1) ¥IE IO 7] I B another.

The market and economic pfar_m_igg in India is o one tive (4) Neutral

(1) Supplementary (2)  Complementary (3) Competatl —
95. Welw (e farae = ‘ ak

(a) Wﬁmwwmwﬁﬂﬁ?ﬁi - —

(b) 1990 = TaTE T e ToIT Y T WA AP A S FE T W

Flrerdar wrvrd/ar faem/S afEn /e 7

(4) aTAHT TN

(1) e (a) (2) e (b) \(3y"(a) omiT (b)

Consider the following statements : . |
d to output in the services sector.

(a) Employment increased at a slower rate as compare |
(b) Growth of average productivity of labour in India was higher than employment growth in

services sector during the period of 1990'.
Which of the statement is given above is/are correct ?
(1) Only (a) (2) Only (b) (3) (a) and (b) (4) None of these

96. Mtz frefwnelt @iv wrwa fia s ?
(a) UHIHD ATHOT g ddwy

(b) 3w s geET M
(c) T fawmg sddeps

(d) 7rEoT fareqor

i =Y
(1) (a) ART (b) 2) W (b) (3) Qe T Sy e T

Which Programme are related to poverty alleviation ?
(@) LR.D.P [Integrated Rural Development Programme]

(b) LAY. [Indira Awas Yojana]
(c) Road Development Programme
(d) Rural Education

Answer options :
(1) (a) and (b) (2) Only (b) (3) Noneofthese  (4) All above
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97. 73 anfd 74 =0 w2 gEE S| mew 243 DA gk A .

1) ugY SrneEn uh gahens wrn yiteaiad) vdra sade
(2) upvr smEn u e s e ade aredre
(3) uFw WTEN UE aggin avn yiaiad vda sade
(4)  THW TS S g A _afmrard) vde siedr
Salient feature of article 243 D of 73" and 74th Constitution Amendment Act is :
(1) One-third of the total number of seats to be reserved for women
(2) One-half of the total number of seats to be reserved for women

(3) One-fourth of the total number of seats to be reserved for women
(4) Two-third of the total number of seats to be reserved for women

Ti4

08. waEtal I MNBEYAT YT HIY ed 7

(a) oS dEEmE (b) T @ el Tha e
(c) o9 g fquia yurs (d) el sl

Qi 96 - :

(1) (a) 3T (b) X (a) anfer (o) (3) & (b) N4y aTdT JE

What are the base for Identification of class of Poor ?
(a) Landless agricultural labour (b) Rural and urban poor person

(c) Small and marginal holding labour (d) Uneducated person
Answer options :

(1) (a) and (b) (2) (a) and (¢) (3) Only (b) (4) All above

99. gﬁ?{ﬂﬂ SeeAT ZvmEy (1981 2012) SEL T dericid SQreareran (GDP) T D

(1) 35 27 5.7 (3) 59 4) 42

The average GDP growth rate during the later phase of planning from 1981 to 2012 was _
percent.

(1) 35 (2) 57 (3) 59 (4) 42

100. 74 21 T2 GEEITHIC BIVET aTd1 LIS Bl

(a) Toeer frarem afdE) @O

(b) T AiHdE W9

(c) Tereqomen &

(d) 9B |ffdrEr &gt

uqidr I

1) @) N v @) (3) (a) ST (b) (4) e T
Which things are essential according to 74" Constitution Amendment ?

(a) FEstablishment of District Planning Committee

(b) Establishment of Taluka Committee

(c) Right to Education ‘

(d) Establishment of Mahanagar Committee
Answer options :
(1) (a) and (d) (2) Only (a) (3) (a) and (b) (4) All above

-00o0-
P.T.0.
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